o0
V‘ ‘ p.800.522.5546 12780 Danielson Ct., Ste. A
_ £800.521.0844  Poway, CA 92064

PRODUCT CHANGE NOTIFICATION

PCN Number: 438

Date of Issue: 09/29/2017
PCN Effective Date: 09/29/2017
Last Time Buy Date: -
Last Time Ship Date: -

Type of Change: DESIGN

PCN 438 Datasheet Update for T-3 1/4 Miniature Bayonet

Title of Change: and Screw Base

Reason of Change: Specifications for several Miniature Lamps T-3 1/4 Bayonet
Base and Screw Base are updated.

Some Part Numbers were also corrected on datasheet,
removing the ‘CM’ that was in front of a valid part number.

Updated datasheet is available on the website.

The last page of this Product Change Notification shows
change between old and new datasheet.

Sannah Vinding 8
Director of Product Development & Marketing: ‘”%

VCC Contact Name: customerservice@vcclite.com Phone Number: (800)5225546
Form 7.2.3-1 Product Change Notification Rev 02/11/2016

Doc ID: a3736b9ea2ac37dafe781d870e4d525368d9d787



0
V‘ ‘ p.800.522.5546 12780 Danielson Ct., Ste. A
£800.521.0844  Poway, CA 92064

VCCLITe.COom

AFFECTED PART NUMBER
Part Number Description Suggested Alternative
Part Number(s)
757 LMP T-3 1/4 INC Mini Bayonet -
Base
CM1819 LMP T-3 1/4 INC Mini Bayonet -
Base
1822 LMP T-3 1/4 INC Mini Bayonet -
1A 36V
8-3995 LMP T-3 1/4 INC Mini Bayonet -
Base
40 LMP T-3 1/4 Miniature Screw -
6.3V
1821 LMP T-3 1/4 Miniature Screw -
ATA 28V

VCC Contact Name: customerservice@vcclite.com Phone Number: (800)5225546
Form 7.2.3-1 Product Change Notification Rev 02/11/2016

Doc ID: a3736b9ea2ac37dafe781d870e4d525368d9d787



p.800.522.5646
f.800.521.0844

12780 Danielson Ct., Ste. A
Poway, CA 92064

veclite.com

T-3 Y4 Miniature Bayonet Base
Old Datasheet

T-3 1/4 Miniature Bayonet Base

Part Design Life Filament
— }\,‘.‘1%’(_ f-— Number Voltage Amps MoerR Hours Type
Ll‘V‘lOLU To.U L4 I-G 2'3 C 2‘:
ENHE37 24-0 06 90. 20 C-2E
/ \ CM1818 24.0 17 3.3 250 c-2v
CM313 28.0 7 3.5 500 C-2F
CM757 28.0 .08 .62 7,500 C-2F
CM1819 28.0 .04 34 2,500 C-2F
1.19 CM1820 28.0 .10 1.6 1,000 C-2F
MAX CM1829 28.0 .07 1.0 1,000 C-2F
EATB4AD 286 g2 26 3,000 -2k
CM1864 28.0 A7 3.0 1,500 C-2F
SIS 28:8 20 35 7000 C-2E
I CM1822 36.0 .10 2.1 1,000 C-2F
CM1828 37.5 .05 .65 3,000 C-2F
CM1835 55.0 .05 1.1 5,000 C.5
CM8-3995 130.0 .02 .20 2,000 C-5
CMg49 130.0 .022 40 2,000 2CC-2F
New Datasheet
T-3 1/4 Miniature Bayonet Base
B e = Pan Design Life Filament
o Numbar Voltage s i Heirs Type
: r 1818 [ =s0 AT 5.3 250 -2
Y ; GM313 28.0 A7 3.5 500 G-gF
757 280 .08 Az 15,000 G-gF
CM1B1D 2B8.0 .04 a4 5,000 C-aF
1,49 (3027 1820 28.0 A0 1.6 1,000 C-2F
MAK. CMiEZE 28.0 .07 1.0 1,000 C-2F
CM1BE4 28.0 A7 5.0 1,500 c-aF
1gaz 6.0 A0 2.5 1,000 G-oF
1828 ar.s 05 A5 3,000 G-gF
CH1B3S 55.0 .05 i1 5,000 G5
B-3005 130.0 o2 .20 2,000 CC-34,
Cimenskans in Inches [mm] 048 130.0 .ngz A 2,000 20C-2F

VCC Contact Name: customerservice@vcclite.com Phone Number: (800)5225546
Form 7.2.3-1 Product Change Notification Rev 02/11/2016

Doc ID: a3736b9ea2ac37dafe781d870e4d525368d9d787



U
V‘ ‘ p.800.522.5546 12780 Danielson Ct., Ste. A
£.800.521.0844  Poway, CA 92064

veclite.com

T-3 Y4 Miniature Screw Base
Old Datasheet

T-3 1/4 Miniature Screw Base

Part Design MEEE Life Filament
—wj 406 -— Number Voltage Amps Hours Type
= CWrTe00 T = O cnn c A
[SUicts 2:86 66 84 1008 §-2
/ \ CM41 2.50 .50 .50 3000 C-2R
Civig2 326 == 2668 —2R
CM40 6.30 15 .50 3000 C-2R
CM46 6.30 .25 .90 3000 C-2R
1.19 [ VEWT.E] 140 1 1. 200 C.2\
MAX. "CTMTAS7 vy 26 e 3666 =2V
CM1821 28.0 A7 | 34 | 500 C-2F
‘_.143:2 22 05 65 2000  rate §
G!'isiﬂ 4r|.n .qn . 1000 P i ¥
CHF5e 55:6 -65 72 506 2
CWiB=399% LR 2 26~ 2868 —&=5
New Datasheet
T-3 1/4 Miniature Screw Base
040611030
MAx. Part Design Lite Filamernt
Mumiber Voltage Ampa MaLe Hours Type
/‘ \\ 41 2.50 50 50 3,000 C-2R
40 8.30 A5 52 3,000 C-2R
46 6.30 25 L 3,000 2R
1821 | =80 A7 3.5 500 C-2F

DEmEnsiang in inches [me)

VCC Contact Name: customerservice@vcclite.com Phone Number: (800)5225546
Form 7.2.3-1 Product Change Notification Rev 02/11/2016

Doc ID: a3736b9ea2ac37dafe781d870e4d525368d9d787



